| s ssze | L

éﬁﬁuftl%?y /)’Piq: ’Afiuﬁq (7 pre & % 5 '744'71 %if & /Q—-’:»g

S=lSek|ic Vi s 0 Kvalref Gitts romuions fle] wnt
the :‘/H’)dz“ﬁ’gC/fC/ (if’ff?/’A /l///E )

=4 s o
PMAS) = Z/LI) ZX}OZ [/;'/S;‘S;')
HEE

Task  conpud s marginol dishituhms P, €V for verhies
anel  pls, <) Lyl E for selyes
We bacir It foo cnpenvadialt Lomides
Pals) = 27‘/7{, ) P<FLs), 1>
Amplies  E, P - 7, ‘4\7 Zln), b His olves nod help,

Eéhmré 4

The dosh cow A Solives] An yZ: ;\&'/m: peial Siwe 3L
(VE) ;s 4 73

[i’l 6}7 a,Zé/S Q\C:; Vhw 44"

Led Frx'sp 4 . randon cechy m the fulel S=[sex/iev]
/V/ﬁ. 277 {S?{M{,é /."/J éyﬁ('(/‘/"')é}w %7

(‘4 ~ " . P 7 y .‘ 4 7
/ \jb Merg 74"\'/ avi , , ‘,/j \fﬂm/’& ST /0” /‘S}/ J:{l .,.J{

/2) ap / Ny Fl A4 '/{ :
prsimatig  ETR] = 455 p)
=7

ﬁfmd/v’é 2

/f 77:—/'\( x/ﬁna/(ﬁ/// We can ude 7//1( #/ﬁt’%é;:\‘ /w{;he}’g'é

T eShura fy the Sawmple f2¢ L geicee/ for a G ven

C(Y),fo/( vl /144 Déf b /A :

72 Sumpler”  clefne a hemegerneons Markey chasa  with Aandshen
prbatility ThIS), ss'e kY sd.
= the chain s imrelucitle el - penoclic
~ ,4s &‘w,%;.:,j Ais i butar 43 L., ls)




|sae ss22 Jur |

.LQ«? mm’»li’ 2 A -&"/Yce&'er srnal Sohie J;'tw(j 2asi<e -/v /grm/g (fm.{ﬁ%w /S

l7/€ '/Cc:' (:t. [/ ’£:4 ’('[u/)((f

T1sls’) Pals’) = T(s'[s) P IS')J’

b/ /”i.C 17 LHJLires “//76} 7[ 7U7C rEvead (A(‘ "W 1S ielie 74-(‘[’, ( 25/l
the elivect il
Paav@cc,a\‘j Cgﬂ‘(?{q’c J,m/}él P 4/5}441( \pnu/)érmf 3 KT/S ')/ € l/

/s/s} /f’ wlsi1svy:) if Swy, = §V\.

C?llza’lowe
A/ez/i(ﬁ ;Aa?t
Puls; sy ) = P /5/§,f) = A ékpl_l i {5 S)
! Z //) q’é 4/'

/’S Za:(j 7% KJW/OL//C (7‘4{‘ ¢ é‘:ﬁf_'; Eact af +he \“”“M/’g‘f"’j B
hag Poa(s) as sh aé‘mag (bt 1ot é;w'%;\,/ ) Ol st bt
"Ff—m; K\Zj’ C&V)SMC'IZ T 4\"7 T‘ T B o ‘é7 ~—L 94

i i€y
It s zasy 4 prve thad T 1S 1Telacy

%
{& KWK/ - /)(440(/(16

C—;l ﬁZS J't;»ff) Z»_z,
F g élf(; '7"MS' art (enwT {{/, 74(/j .

C— [+ z
=(*) = C‘V/’; ﬁwé)c

= g’ f)i-i /S) F/Sj -/—- f_/;s_i/‘i.) }TLS") B [E;j[}?]

Guel ‘]),.__ ) = Cett) o A

with maviug Fme 7
Cere) £ o

Sicle 5#@ ) T wpbivg & stec aghe graclicud <cshwedorc
2 A4

Led wg Coasi e a cleep s Sochuohe Gaussts i netwerh st
{:/{{c/z,r a(?(’ygf 7{'@;45‘ 2 ké‘ /2 H’E /7‘5 KJVJ[J?'VSW{? / &'[157{4 7{1 74.677
/3/2»—.,2%,1 24 [26) i Fvea ’%)

P/'Zw,, 2M«—1,,,)27 /‘20) = T/D[Z?le /“?k..1J
k=1

S at s 5 #p /w,o/éwan/, bocf $low  The Successive

4




| sk 22 JLie |

with Pl ]2e.,) =L/I/////;e, thay 15.)), where

o= W2, 6o < (%,
Ctof //’uj.—é” oy ﬁ//"jt’@ﬁ*ff”}
We . %” b less %Wc boa Lz 2. ) thad is ol /%fﬂ/ﬂ-q tHe o 25,
Given A, wing cduda (26,2)€ T we wand # Jelec Fhe pelle wisf
o)o%'um'a,%m Fas k

-~ §
)71 23 Pula, 12.) L (20,2.,) = heiv,

(Ro,2.) €T W

J’;,,Cé Pw/mgm /gM_i) J§ 'é,,,c. S A 4-,4‘4{;/ /;MV// Wi (g rfala,é"w(ﬁ

7>m/ /“zl'vt /tjc).[ /z?cgm) - ,/Oiw /t’w-t /T?O) L /‘?5) ZM*’. l"’/w} = {:/u/)
éﬁwf/yu%w\j . .
72’,/814')-—1 /‘?a) = ]jfl?1 "/%WPZ (/Ow' /‘gh/l-‘lr‘f?” /20)

IS v 7lra A (v& ,
Zuiq

Heweves; s can casity Sawipl
)“l;Z’l o~ IO'W’ ('2144—1‘,..1‘27 '9@)
A /éw«?zu’ "kwl{: l We 9 ’A 14 weeod 74 Cot }C ”W‘I 770:5
Can 4t o e ,{\/7 ~+he )—f/o(,-rg ¢ 7{/]'.;((,’74?1/1 7{’)C4
ZNVV’Z/”,G) & 6’"’61/’/(7, flf) ] ?=5-£~'+/L{
lp/ ¢ (,‘:éf;la i '711’1{ ;é‘ﬂc‘ )’1/&""\'7' SJ[?,‘ /:;4;5 74(‘ di’ < ﬁé‘iw 71 4!%\!‘)'4”’/ s '7é -
é/t ~ V///al I}/ 'Zk = 6_,; EK -+ /"iﬂl /Lm‘?l/il

P, e gy, )

H-L’MC{)

,ﬁe%

2144-! = )'-’('20,5‘) f't) 5 ('éi-/l;éifﬁ X/BGM 1 W e we

Yl - hiagw), vy




| st ssee |Lin
!8» /Vfﬁi') v&/ﬁ/ Gﬂp}oi’i,"‘y/"lmny'?&ﬁﬁ
ea

C’f rey/w Ci?é /Ou /S) @ & &mﬁ&f’ al}"s/n‘ﬁ%ﬂ’i __?/5), écf ﬁ‘&SuM;‘y
Thad Hhe S, LeV are .4-L,4~/;¢,Ua»w/awL_ Use e KL - divergence

as Crferan,

/g///ﬂ) -7 g/s)ﬁqz,ﬁ_’i} —> Auius

Sek” >

S—/ .?/;S’J:: 767_:9‘ /5‘-)

LV/CGPC!
2370 atsgqis) - i | |
L/ S S &. . . ) =D Al es
EV S7EK \/CESSgk (3, 2 /S.}g,, /f,) > 4

g7
%471 =14 ¥iev

The 4¢;J£ 48 mod cmvex. HOW’EV&’ /F S Canvek i‘éﬂ’ﬁ rf’v(jft ‘ 'rl
all ether 4y, J#1 art Véx.n/, Hewee, setve Hie etk (7 blech-coorebuak

C'QS('éuv;Z‘. ocﬂ-fj{é d?éf) 6/ i‘7[ radls
d€v‘ S{-I( d d

4EY¢)MB‘& 4 /]Pr)my;ma—k q Mcuﬂ}w’[;he:‘k Garuss. aue u/,/-/ﬁi', Sﬁ,) ’/:«77
a fachng iy Geuassian /1/&/, dicy 15 2))-
i’l/& /’)zfvd

e gi0 bygite) = Jangin) [= s (v pa) = g7 = - 4oy const

? fid-.&/ w Y i ¢ . ’ X‘:X'}fia
./X X 76,[)1) <X‘Fv, S(¥“Fc\7 == ‘/,’/y,:,g/)(,, 7@/}) <X).S)<>

_-Z; of dx; ¥
‘*})) x:d %l )E}d(xo)x S X +Z_j"lx (%) S
_Z L.S

'ﬁ) .J ﬂ‘; S" (F"L*Q—ZB = (}4| Sf—l? "'”Z:i 5?'6%




[ s ss22 Lo
Pu H)Mj CVN, fenms 7%7{7‘//41"/ 71/2“0‘&1?[

§
"‘Z-&\c’é’f 4 %(}hS’fq}«r ’—ZLZS‘ 6‘71 —2 My
i /4,6
ﬁ{(ﬁ{///.fj wIhe. JL/% o= /C'/-/-/«ic,/ Tt 3@7L

M=pe, 6°%= A
’ Si




